STNY
v e/ %4

B & =
sga—F K49466
y = SWM1610
TS i SWM1610-13

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

= tIHI 7?7 O UST v o






D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



SWM1610

TL—L4(1)

-~

SvEVITIY

AHET| 55 & 5 B mi 4 i) A% T
1 | 1373630004 AL 7L —ALCP 1
2 10714891000 FaWaRk—ACP ;540 1
3 10836421000 ¥avak—ACP ;375 1
4 | EWK869932 SFY¥7;4X1,/8 4
5 | ONBS1 JY)—Z2=v7NV B PT1,/8 2
6 | 1376000004 Ko —/RC P 1
7 | BZ16120 ALk 8.8 M16X120 2
8 | WSAL6 NEXHFHX 3347 M16 2
9 |NZ16 Fvh 8 2v2 M16 2
10 | 064021100M Ty 2
11 | 134946000M R—=APR—KCP 1
12 | BSZ10035 afHARLE 7 M10X35 2
13 | WSALO NAYPHx 337 M1O0 2
14 |NSZ10 afXZFvyhk 8 2¥=2 M10 2
15 | 0667641004 E o F 2
16 | BZ20080 ALk 8.8 M20X80 2
17 | WSA20 NEXYPHx 337 M20 2
18 | NZ20 Fvh 8 2v=2 M20 2
19 | 1376061004 Vo> —Y Re—/NCP 1
20 | 066805000M EyFELCP 1
21 | WRA30 7R M30 2
22 1 000739000M VoFrr; 9 1
23 | 1376551004 AHRCP ; L 1
24 | 1376581004 AHRCP ; R 1
25 | 077934200M =V 2




SWM1610 SvEVI<L v

TJL—LAL(1)

AHER| B oM F B il i 4 i [EES fii
26 | 000738000M JoFEL ;6 2
27 | CZ050005 Voo Fz—r Hvay 5X27. 5PX5 | 1
28 | SSC0620 YY) 6—1,/4 2
29 | 1376530004 77 AZNLCP 1
30 |BZ16035 ALk 8.8 M16X35 4
31 | WSAL6 NxYPHx 337 M1 6 4
32 | NZ16 Fvh 8 232 M16 4
33 | 1094610000 ZAL¥YAS ;5. 00—9—8PR 2
34 | 0579400000 4% ;5. 00—9—8PR 2
35 | 1070520000 Fa2—7 ;5. 00—9 2
36 | 109446ASY AA—/N ;3. 50DX9DT 2
37 | BZ12025 ALk 8.8 M12X25 12
38 |Nz12 Fvh 8 2v=2 M12 12
39 | WSA12 NEYPHF 337 M1 2 12
40 10004075004 |7 ; A6 2X80 2
41 | J30208 T—a—7_X7 Y7 30208 2
42 | J30206 T—a—7_X7 Y7 30206 2
43 | 000501000M V=T v x ; 40X 80 2
44 | WRA24 IR M2 4 2
45 | 000712000M Fy v ATy h;M24X1. 5 2
46 | PC040032 JYELY 4X32 2
47 | 000415000M Xy 62 2
48 | 000420000M AR ;M12X1. 5X50 12
49 |NZ12150 Fvh 8 2va2 M12X1. 50 12
50 | WSA12 NEXPFHX 33a7 M1 2 24
51 |ONBS1 JY)—Z2=v7NV B PT1,/8 2
52 DHZFX—LT L — ] 1
53 | 1385460000 TV hTw—27250 1
54 | 1579820000 SR XA X T IXT V680 1




SWM1610 SvEVI<L v
2L—L4(2)

A& s 5 B i A i % fii
1 | 1520690003 7Ty hCP TRy 1
2 | BZ12100 ALk 8.8 M12X100 2
3 |WSA12 NEXYPHx 337 M1 2 2
4 |NZ12 JFvhk 8 2v=2 M12 2
5 | 042783600M Tyivy ;12 2
6 | 1570721003 H—RKAZ L RFCP 1
7 1026970100M Tyiy; 14 2
8 | WSAl4 NEXHFHX 33d7 M1 4 2
9 | BZ14030 ALBF 8.8 M14X30 2
10 | 1379030004 |== 7Y N—CP 1
11 | BSZ08020 afFARLE T M8X20 4
12 | WSA08 NREYPHx 337 MS 4
13 | WRAOS v 7R M8 4
14 |NSZz08 afHZFyh 8 2v=2 MS 2
15 | 8039750003 777 hCP ;U 1
16 | BSZ08025 afHRNVE 7T M8X25 2
17 | WSA08 NEYPHx 337 MS 2
18 |NSZz08 afXZFvyhk 8 232 MS 2
19 | 1568250003 | F v R HR—CP 1
20 | 0006900000 =¥ ;M8X14 4
21 | WCR1HO8 PINREXYFAR 1v=2Vay MS 4
22 | 1379080004 H—RAF—CP 1
23 | CAP034032 ¥yvS 34. 0X3. 2 1
24 | 069868000M |TF/LZE L ;12 1
25 | 1181490000 =1 ;M8 1




SWM1610 SvEVI<L v

JL—LAL(2)

AHES| B M F B il i 4 PR [EES fii
26 | NBHOS Z77wvtyh 34X M8 3
27 1379110004 |34 7 1
28 | BSZ08040 afAZRLE 7T M8X40 2
29 | NNFOS8 75 VFAuarFy b M8 2
30 | 1399860004 H—KCP 1
31 | 1399890004 F ¥ LRI 1
32 | 055032000M B FARLE 8. 8 M8X15 3
33 | 055474000M BT XARLE 8. 8 M8X20 4
34 |NSZ08 afXZFvyhk 8 232 MS 7
35 | WSAO8 NEYPHx 337 MS 10
36 | WRAOS v 7R M8 6
37 | 0006880000 =X ;20 6
38 | 0009630000 |KHTF~L:W—50100SQS 2
39 | 0433691000 tyFoFauf T L— ] 1
40 | 1385460000 FYL hTw—27250 2
41 | 1385470000 FYL; hTw—27500 2
42 | 1061641000 VAN =2/ | 1
43 | 1064640000 SV AL a3y 50 1
44 | 1064650000 T rA4arz 51 1
45 | 1065410000 TV Ay 127 1
46 | 1065900000 TV b A4ay 176 1
47 | 1386420000 TYL s Favkdl 1 1
48 | KMSO11 7Fravkyy 7 11 2
49 | 1399880004 777 v bk 1
50 | 059483000M B XRNVE 8. 8 M8X25 3
51 | 8039780003 777> hCP ; L 1
52 | 8039790003 777 hCP ; R 1
53 | 8039800003 FL—k 1
54 | BSZ08070 afHRNVE T M8XT7O0 2
55 | WSA0S NEXFHX 33U MS 6
56 | WRAOS 7Y% Rr MS 4
57 | BSZ08025 afHZRLE 7T M8X25 4




SWM1610 SvEVI<L v
T—7I)L(1)

25 26 3738

&)

44-§
065-0047-1003 43
AHEE| & M & & B i A i % fii =

1 |1374541003 |5—7/LCP ; F 1

2 | BZ16050 AR 8.8 M16X50 4

3 | BZ16040 AR 8.8 M16x%X40 2

4 | WsAl6 NEHFHFX 337 M16 6

5 |1427340003 |5 —7/LCP ; RE 1

6 | 137617000M ECP;25%X113 1

7 137922000 |ELH—FL—F ;1 1

8 [NSZ10 affAZFyhk 8 2v=2 M10 1

9 | WsAl0 NEYPHx 337 M1O0 1

10 | 044098500M Twiw 10 1

11 | 137620000M FYCP;F25%X115 1

12 |NNF10 754 arFy Rk M10 2

13 | WRAL0 E7HHTR M10 2

14 | ONB6 7Y —A=v 7)) B M6 2

15 | 1374391004 n—ZCP; F 1

16 | 1376490004 AV 2

17 | JCS207LLU o=y hIUYXRTYLY CS207LLU 2

18 | DCO35 CHAZRMAT Y7 35 2

19 | BZ14040 AR 8.8 M14xX40 4

20 | WSA14 NEPFH%X 337 M1 4 4

21 | 1424650004 n—7CP; RE 1

22 | 1376490004 A 2

23 | JCS207LLU o=y hIUYXRTYLY CS207LLU 2

24 | DCO35 CHZMAD Y7 35 2

25 | BZ14040 ALBF 8.8 M14x%X40 4

-5-




SWM1610 SvEVI<L v

FT—7I)L(1)

AHES| B M F B il w4 PR [EES fii
26 | WSAl4 NxHPHx 337 M1 4 4
27 | 1374460004 n—JCP ;1 1
28 | JUCFL207DGB | X7 V> Z/=2=vF UCFL207DGB 2
30 | BZ14045 AR 8.8 M14X45 4
31 |NZ14 Fvk 8 2v=2 M14 4
32 | WSAl4 NxYPHx 337 M1 4 4
33 | 1374500004 n—JCP; 2 2
34 | JUCFL205DGB | X7V >/ =2=v h UCFL205DGB 4
36 | BZ14050 ALk 8.8 M14X50 8
37 |NZ14 Jvhk 8 2v=2 M14 8
38 [ WsAl4 NEXPFHX 337 M1 4 8
39 |1424730000 |~k 225%X3300 4
40 |1424690004 |#HA KCP ; F 1
41 | RBT10020 ARZB 10. 9 M10xX20 5
42 | WSA10 NEYPHx 337 M1O0 5
43 | 137622000 |HAYam—Li ¥ 7 FCP 2
44 | BZ12040 RLUR 8.8 M12xX40 4
45 | NZ12 Fvk 8 2v=2 M12 4
46 | WSA12 NEYPHF 337 M1 2 4
47 | 1245120000 AP aue—LCP 2
48 | 125519000M Jw sy ;30 5X4. 5 2
49 | BZ12020 AR 8.8 M12x%X20 2
50 | WSA12 NxYPHx 337 M1 2 2
51 | 085137000M Jwy 3 13X3. 2 2
52 | 119493000M ELCP; F25X70 1
53 | BSZ10025 afHERLE 7T M10X25 1
54 [ WSA10 NEXPFHX 337 M1O0O 1
55 | 060807100M Ty 1
56 | PS080040 AT TEY 8X 40 1
57 | 1339070000 STARY—Z7F~UL; 40 (S URLYH) 1
58 | 1339780000 STAR~Y—Z7 7L ; 40 1
59 10003300000 |HrHINLT xS L— b 2
60 | 0009360000 |XH T ; Y—-50100SQS 2
61 | 1064980000 TV A4 a8 4 1
62 | 1386430000 TV Favkf 2 1
63 | 1065900000 TV rA4ay 176 1
64 | 142472000 | FL— |k 1
65 | BSZ10035 afHZRNLE 7T M10X35 4
66 | NSZ10 aBZFyh 8 232 M1O 4
67 | WSALO NEYPHX 397 M1O 4
68 | 142739000 | A KCP ; L 1
69 | 142742000 | A FCP ; R 1
70 | 140948000M |UARML K ; 6 5C 2
71 |NZ12 JFvhk 8 2v=2 M12 8




SWM1610 SvEVI<L v
T—IL(2)

/ 54

AHET| 55 & 5 B mi 4 i) A% T =

1 | 137634000M 27wy h; 50X38T 1

2 | DCo40 CHHA AT ¥ 40 1

3 |1440770006 aF7YE—H ;MP250 1

4 | KFB08070270 |~A 2% — HH~<)L 8XTX27 1

5 | BZ12055 ALk 8.8 M12X55 2

6 |Nz12 JFvh 8 2v=2 M12 2

7 | WSA12 NEXPFHX 33a7 M1 2 2

8 | 137644000M A L—H 1

9 | BJ08025 $I7F¥y v 7B 10. 9 M8X25 1

10 | 137646000M HT7—;25. 5X10. 5 1

11 | 132816000M A7nl v h; 50X12T 1 | (50em 7 ¢ /L2 H)
12 | 1376280003 A7va,ryh; 50X13T 1| (60cmi 74V (B
13 | 1376300004 A7nl v h; 50X15T 1| (Toem 70V (g
14 | 137645000M T — 1

15 | 056984000M 70w 1

16 | 137638000 |7 > a7 —LALCP ;1 1

17 | 081267000M |F >3 ma—F5CP 1

18 | DCOL17 CHHE AU YU 17 1

19 | BZ14040 ALk 8. 8 M14X40 2

20 |NZ14 Fvh 8 2v2 M14 2

21 | WSAl4 NxYPHx 337 M1 4 2

22 | WRA14 TR M1 4 2

23 | 1376350004 AACP 1

24 | 1376310004 ¥ 7 hCP 1

25 | 137648000M HT7—;55. 9X14 1




SWM1610 SvEVI<L v

7_-_

JIL(2)

/ 54

AHEE| & M & & w4 i A% i =

26 | J6007LLU R—=L_7Y 7 6007LLU 2

27 | DHC062 CHAZMAT TF 62 1

28 | BZ12040 AR 8.8 M12x%X40 3

29 | WSA12 NEYPHF 397 M1 2 3

30 | 137647000 |HTF—; 35. 5X12 1

31 | 137627000 | A7 w4 v k; 50X25T 1| (50em 17 4 V23 H)
32 | 1376290003 27wy h; 50X23T 1| (60cmTZ4 /WM RS
33 10570720004 | A7Fws v h; RS50X21T 1| (TemM7 VAR R
34 | 076487000M | 'L — k 1

35 | 056984000M 70 w7 1

36 | LA50063B n—5Fx—r B50X63L F73VXF1| 1

37 | LA50077 n—5Fx—> 50X77L 1

38 | 137641000 |F > a7 —ALCP ; 2 1

39 | 081267000M |T v marm—FCP 1

40 | DCO17 CHEZNAD Y7 17 1

41 | BZ12040 RLR 8.8 M12xX40 1

42 |NZ12 v h 8 232 MI12 1

43 | WSA12 NEXYPHx 337 M1 2 1

44 | WRA12 AR M1 2 1

45 | NZ14 Fvh 8 2v2 M14 1

46 | WSAl4 NEHPHF 397 M1 4 1

47 1 072968100M Ty 14 1

48 1393550003 | HN—CP ;1 1

49 10006900000 |=FU ;M8X 14 2

50 | WCR1HO8 PINRRZYHF 1vavay MS 2

-8-




SWM1610 SvEVI<L v
T—IL(2)

/ 54

065-0047-1004

RHES ) B n F 5 Woodh A W %% i} %

57 | 044097200M Yvix; 8

58 10940930000 ANy Tw—7

51 | 1378151003 HXR—CP ; 2 1
52 | BSPZ08016 aHFXSWYFARLE 7 M8X16 3
53 | 044097200M Ty 8 3
54 | 137906100M | 71 /3— 1
55 | RBT08016 AZB 10. 9 M8X16 4
56 | WSAOS NEXHFHX 33T MS 4
4
1
1

59 | 1339780000 STAR~—7 7~V ; 40

60 | 096757000M VA 25, 5X0. 6




SWM1610 SvEVI<L v

NATUITL—L

AHEE| & W & & B i 4 i A% fii
1 |1644010004 | HARTY LT 1
2 | BX10035 ALE 10. 9 M10XxX35 12
3 |WSA10 NExYPHx 337 M1O0 12
4 | 1440740006 | =7 YVE—% ;MP 100 1| R2uft
5 | BH12040 ¥y 7B 10. 9 M12xXx40 2
6 | WSAL2 NEXPFHX 33a7 M1 2 2
7 | 1376260002 v=4r;13 1
8 | 134619000M Jyiy 25, 5X1. 0 2
9 10907800000 Ty ;8. 5X3. 2 1
10 | BSZ08020 afHERLE T M8X20 1
11 | WSA08 NEYPHx 337 MS 1
12 | 1379831003 AT TL—ALCP 1
13 | BX10030 ALK 10. 9 M10X30 12
14 | WSA10 NEYPHF 337 M1O 12
15 | 1379780003 777> RCP 1
16 | CAP060538 *¥yv~7” 60. 5X3. 8 1
17 | BZ16040 AR 8.8 M16x%X40 3
18 | WSA16 NEXYPHx 337 M1 6 3
19 |NZ16 Fvh 8 232 MI16 2
20 | 1385460000 FYL; hTw—27 250 2
21 | KFC08070320 |~A 2% — Uzu~<jb 8X7X32 1

-10 -




SWM1610 SwvEYIII Y
AMLYFIL—LA

AHET| 55 & 5 B i 4 i A% T
1 | 1379500004 7597y hCP ; AL yF 1
2 | ONB6 J)—A=v7) B M6 1
3 | BZ12070 ALk 8.8 M12X70 3
4 | WSA12 NEPFHFX 337 M1 2 3
5 |Nz12 Fvh 8 2va2 M12 3
6 | 137928000M HRILECP ; 7 4)L1h 1
7 | BZ12100 ALEF 8.8 M12X100 1
8 | WRAL2 eI TR M1 2 1
9 |NNF12 75V uarFy b M1 2 1
10 | 083273100M | /X— 1
11 | 078897100M ATY T 1
12 | WRAOS t I HFx M8 1
13 | NSP0O8 aABEATYV Ty N 4 M8 1
14 | 1285370000 =X ;M8 1
15 | 137933100M HRILZCP 1
16 | 000462200M E>CP ;10 1
17 | 1379321000 n—>;:¢$34. 5 1
18 | BSZ08045 afHRNLVE 7T M8X45 1
19 | NNFOS8 7oV A4arFy b M8 1
20 | 137936000M ¥ 7 bk 1
21 | DC025 CHHA AU ¥ 25 1
22 | 060807100M Tyl 3
23 | 1323741000 n—>;¢25. 5 1
24 | 058711100M ATV T TV a s H 1
25 | 119848000M 7T—ALCP ;7415750 (A) 1

-11 -




SWM1610 SwvEYIII Y
AMLYFIL—LA

A& 5 o5 5 B mi 4 i) A% T
26 | 080414100M Tviv ;8 1
27 | NNFOS8 77 FAnvrFy b M8 1
28 | 0333782000 7Y v 1
29 | NSPO8 AFEATY T Fy N 4 MS 2
30 [ 069868000M | T /LA E L ;12 1
31 | 1203530000 FAYL s T 4 VA 1
32 | ONA6 T —A=v 7V A M6 1

-12-




SWM1610 SwvEYIII Y
ALyFA—7

5

AHEE| & M & & B i A i A% fii
1 |1379380004 |ARLyFZ7L—ALCP ;75 1
2 | 137960000 |HTF—;26. 2X24. 5 1
3 | 117375000 |#HF—;26X20 1
4 | PS050036 27V 5X36 1
5 | 1379460000 ARl wFr—FCP: 790 2
6 | JPFL203G NA75Y v PFL20S3 8
7 | JCS203LLU o=y haUYXRTYLY CS203LLU 4
8 | WRAO6 eIV AR M6 8
9 | BZ06020 ALBF 8.8 M6X20 8
10 | WS06 NEYPHx 237 M6 8
11 |NZo6 Fvk 8 232 M6 8
12 |WRA12 IR M1 2 2
13 | WSAl2 NREYPHx 337 M1 2 4
14 |NZ12 Fvk 8 2v=2 M12 4
15 | 117392000 | #F—; 1 7. 5X4 2
16 | WRAL2 IR M1 2 2
17 | 1379580002 F¥ :M3X28T 1
18 | 1379590002 ¥¥ :M3X18T 1
19 |KFD05050150 |~A 2w F%— UYUzaybks 5X5X15 2
20 | 137957000M | L — |k 1
21 | WSA10 NEPFH%X 3327 M1O0 2
22 | BSZ10020 afHERNLE 7T M10X20 2
23 |120339000M | AF V2 Z ;H3. 5X20X160 1
24 | BXI08035 ALk 10. 9 ¥ M8X35 1
25 | 044097200M Jviv ;8 2

-13-




SWM1610 SwvEYIII Y
AbLyFAO—7

5

AHEE| & & F & gl i 4 R 8% It
26 | NSZ08 afXZFvyhk 8 232 MS
27 | WSA08 NRxYPHx 337 MS

28 11379610004 HN—CP ; AL yF

29 1080414100M Uy ; 8

30 | 044097200M Yvivx; 8

31 | NNFO8 A7V e (= 2y BRI N Y/

DN DN == DD

32 | 1385470000 FZ~L; b T7~—27500

-14 -




SWM1610 S vEYIII Y
T4 ILLFRILE

AHET| 55 & 5 B mi 4 i) A% T
1 | 1375431003 777> hCP 1
2 | BZ14080 ALk 8. 8 M14X80 3
3 | 087225100M Ty ;14 3
4 | 1375660003 Ty THRNLE—CP ; UP 1
5 | 1375770003 Z7 v THRNVE—CP ; Lo 1
6 | 1375840003 v FCP 1
7 | ONAG JV)—A=v 7L A M6 4
8 | 137598000M FYCP; F25X75 2
9 | 119437000M FLCP; F25X116 2
10 | WRA24 eIV TR M2 4 4
11 | 083995000M Jyvy ;3 17X4. 5 4
12 |NN16 FAuarFv bk M16 4
13 | 137585200M | /%A 7 1
14 | 137586000M T — 1
15 | CAP027228 Fyvs 27. 2X2. 8 1
16 | PS050040 AFY T 5X40 1
17 | 137595000M F v FILCP 1
18 | 040588101M ATV T 3
19 | NNF10 77004y b M10O 3
20 | 137588000M 777 v bk 1
21 | 044097200M Tyviy ;8 2
22 | WSAO8 NEXFHX 33T MS 2
23 | BSZ08035 aFHERNLVE 7T M8X35 2
24 | 137587000M FA 7 1
25 | WRAOS v 7R MS 2

-15-




SWM1610 S vEYIII Y
T4 ILLFRILE

AHEE| & W & & B i A i A% fii
26 | WSAO8 NEYPHx 337 MS 2
27 | BSZ08016 aBEZRLE 7 M8X16 2
28 | 119442000M FCP;F16X%X35 1
29 | WSA10 NAYPHF 397 M1O 1
30 | BSZ10020 afFHERLE 7T M10X20 1
31 | WRA20 eI TR M20 1
32 | PC040032 JYEY 4xX32 1
33 | BXI14060 ALk 10. 9 ¥ M14X60 1
34 |NZ14 JFvk 8 2v=2 M14 1
35 10433691000 |tvFrFavAfTL—h 1
36 | WSAl4 NxYPHx 337 M1 4 3

-16 -




-~

SWM1610 S vEVIITL Y
Ay
|

060-0047-1009

AHET| 55 & 5 B i A i A% T
1 | 042322200M Jv¥y; 16 2
2 1042783600M Tyvy ;12 1
3 |WSA12 NxYPHx 337 M1 2 1
4 |NZ12 Fvh 8 2va2 M12 1
5 | 065482200M Tyivy ;12 2
6 | WCRILI12 PINRIXHFATR 124 M12 -
7 | 042783600M Tyivy ;12 1
8 | NNF12 75V uarFy b M1 2 1
9 | 1379640004 7% v hCP 1
10 | KBF-2525B H—RRKRIAB 7909V F% B 25X25 2
11 | 042322200M Jvix ;16 1
12 | WSA16 NRAYPH+% 337 M16 1
13 |NZ16 Fvk 8 232 MI16 1
14 | 137976000M 'y 25X95 1
15 | 060807100M Ty 2
16 | PS050040 ATV TEY 5X40 2
17 | 1379691004 7Ty hCP uvy 1| R18ff
18 | 1384140000 TILTL— |k 1
19 | 137977000M Ly 25%X120 1
20 | KBB-2515B =R RIARXTYV 7 B 25X28X15 | 2
21 | 060807100M Tyiy 2
22 | PS050040 2FY T 5X40 2
23 | BZ06045 ALk 8. 8 M6X45 1
24 | NNFO6 750 FA4urFy h M6 1
25 | 137975000 | 7> 7L 1

-17 -




SWM1610 SwvEYIII Y
Ay
|

0609-0047-1009

A& 5 o5 5 B i A i A% fii
26 | BJ10035 HFFy vy 7B 10. 9 M10X35 2
27 | WRALO 7% HFR M10 2
28 | 044098500M Jvvy ;10 2
29 | WSA10 NAYPHF 397 M1O 2
30 |NSZ10 affAZFyhk 8 2¥=2 M10 2
31 | BSZ08035 afHRNVE 7T M8X35 1
32 [ WsA08 NEXFHX 33U MS 1
33 | NSZ08 affBZFyhk 8 2va2 MS 1
34 | 077412000 | A7V 7 H 1

-18 -




SWMI610 SvEVSITLY
7Y

065-0047-1010

AHET| 55 & 5 B mi 4 i) A% T

1 | 1385855000 gy ha—aRy 7 ACP 1

2 | 1385860000 a—K; 7 Ky 1

3 | 1385870000 a— K kuy 1

4 | 1570380000 HAT D FA1 1

5 | 1385880000 T Faya—R 1

6 | 1345450000 o—FK; 5000 1| RT3t
7 11105960000 | fEKITHEAA v F 1

8 1105931000 |#Egiz— K o H— 1

9 | 137917000M v Y —777 v FCP ;1 1

10 | 137926000M 7T 1

11 | CP03016 +F_Raxy M3X16 2

12 | WRAO3 v 7P HFx M3 2

13 | Wso03 NREYPHx 297 M3 2

14 | CP03025 +F_Raxry M3X25 2

15 | WRAO3 v 7P HR M3 2

16 | Wso03 NREYPHx 297 M3 2

17 | NAO3 Fvh 4 232 M3 2

18 | BSZ08035 afHRNLVE 7T M8X35 2

19 | WSA08 NxYPHx 337 MS 2

20 |NSZ08 afXFvyhk 8 2va MS 2

21 | 044097200M Jyiy ;8 2

22 | 1386820000 XYV RAL VT 1

23 1379200000 |®o V% —TFTFH7 v FCP; 2 1

24 | 138003000M Ty 1

25 | 1385900000 TR T T 1 | =— R2mft

-19-




SWM1610 SvEVI<L v

T

AHES| B M F B B w4 R [EES fii
26 | BSZ08020 afHARLE 7T M8X20 2
27 | WSAO08 NP H+% 337 MS 2
28 | 044097200M Tyl 8 2
29 | BJ10040 HI7F¥y vy 7B 10. 9 M10X40 1
30 | WSAL0 NEYPHF 337 M1O 1
31 |NSZ10 afXZFvyhk 8 2¥=2 M10 1
32 | WRALO E AR M10 -
33 | SHL-W2155 Vv NAA v F 1 | =— NEL
34 | 137925000M |ELUH—FL—F ;2 1
35 | CP04030 +FRaxyY M4 X330 2
36 | WRAO4 v 7R M4 4
37 | NPO4 ATV T Fy b M4 2
38 | BZ06012 ALk 8.8 M6X12 2
39 | WS06 NEXFHX 237 M6 2
40 | WRAO6 eIV AR M6 2
41 | 1122090100 7 KW 1
42 137923000 |V —F T4 FCP; 3 1
43 | 1385890000 T Faya—FR 1
44 | 146294000M LA—CP 1
45 | 119544000M 7y RCP; 60 1
46 | 1119720004 g IN— 1
47 | 0774093000 Ty va 2
48 | CP04016 +F_Raxy M4X16 2
49 | WRAO4 v 7P HTR M4 2
50 [ NP04 ATV T Ty N M4 2
53 | WRA16 IR M16 3
54 | DE012 EAX%NADT 12 1
55 | WRAOS eIV r MS 1
56 | PC032016 JUEY 3. 2X16 1
57 | NSZ08 afHZFvyh 8 2¥=2 MS 1
58 | 079424000M T4 —r T K; 8X32 1
59 | 079425000M Ly 8X32 1
60 | BSZ10035 afARLE 7 M10X35 2
61 | WSA10 NAYPHx 337 M1O0 2
62 | NSZ10 afHFyh 8 2¥=2 M10 2
63 | BSPZ08016 aFHESWYFALE 7 M8X16 1
64 | ILT150 Avaay I HA 3. 5X152 -
65 | ILT380 AovaayIHA 7. 5X382 -
66 | 1385910000 SYL s F oA 1
67 | 1301790000 VA A=Ay AV o 1| f5EHFEHLCR2032 (3V)
68 | 1105960010 Ukt HY—; GLS—S1 1
69 | 0937330000 o amwsxy b 1
70 | 1391930000 FUL s AU XY 1
71 | 1385813000 SVay ; Varx 1
72 | 0887210000 AN FGNF a—T 1
73 | FU30 t=—ZA;30A 1

-20-




SWM1610 SvEVI<L v
aryy

065-0047-1011

24 0

&
& - S
D@OEDQ@R 19
333435363534

AHET| 55 & 5 B mi 4 i) A% T
1 | CLF40M h7Z FA PT1,/2 2
2 10007781000 N7T7xxv7 5 1,/2 2
3 |2083-08-06 =7V PT1,/2XPT3,/8 1
4 | 106900000M w7 PF1,/2XPT3,/8 2
5 | 1369190000 T4NE 2 1,/2—60u 1
6 | KHO602000AP | =7 ¥YAHR—Z 3,/8X2000 1—4 1
7 | KHO802000AP | =7 Yh—A 1,/2X2000 1—4 1
8 | 1033-06-08 AR—AxT)R PF3,/8XPT1,/2 1
9 |1033-08 AR—Ax)LR PF1/2XPT1,/2 1
10 | 116832000M Fzw VT 1,2 1
11 |2083-08 =7 PT1,/2 1
12 | 117267000M TV PF1,/2XPT1,/2 2
13 | 1512400000 FLYRy 3 4E 1
14 | BHO5080 Fyvy 7B 10. 9 M5XS80 2
15 | NAO5 Fvh 4 232 M5 2
16 | WS05 NRExYPHx 297 M5 2
17 | BSZ08020 afHRLE 7T M8X20 2
18 | WSA08 NExYPHx 337 MS 2
19 | 105166000M T PF3,/8XPT3,/8 HAFw ME| 2
20 | 102551000M T PF3,/8XPT1,/4 6
21 |KHO600630DP | =7 YHh—A 3,/8X630 S901—4 1
22 18039810000 TIAFVT 4T HE 1
25 | 4043-10-06 UNF7vyv>»”7 UNF7,/8—14XPT3,/8| 3
26 |1033-06 AR—Ax)LR PF3,/8XPT3,/8 2

-21 -




SWM1610 SvEVI<L v

ayyy
AHES| B M F B B H 4 i) [EES fii
27 | KHO602700FP | =7 Y/hR—A 3,/8X2700 S451—4 | 1
28 | 2083-06 =v 7N PT3,/8 1
29 [2091-06 74— PT3,/8 1
30 | KH0600500DP |=7 Y& —% 3,/8X500 S901—4 1
31 |1033-06-08 AR—AxLR PF3,/8XPT1,/2 1
32 | 2091-08 74— PT1,/2 1
33 |2081-08-06 Ty PT1,/2XPT3,/8 1
34 | 106790000M =7V, PT3,/8XPF3,/8 2
35 | 1003441000 HAry ~y 17 4
36 | 124511000M Fryv V7 3,/8 1
37 |2088-06 AAF AR PT3,/8 1
38 | 106900000M w7 PF1,/2XPT3,/8 4
39 | 1035-06 AR—AxT)R45 PF3,/8XPT3,/8 1
40 | KHO0601300DP | =7 YA —A 3,/8X1300 S901—4 | 1
41 | KHO603300DP | =7 YA —A 3,/8X3300 S901—4 | 1
42 | 1013-06-08 A—A=v 7L PF3/8XPT1,/2 1
43 | 1033-04-06 AR—Ax)LR PF1,/4XPT3,/8 1
44 | KHO402700EP |7 Yidh—A 1,/4X2700 S902—4 | 1
45 | KHO403900FP |=7YdHR—A 1,/4X3900 S451—4 | 1
46 | KH0403900DP |=7YdHR—A 1,/4X3900 S901—4 | 1
47 | 2088-04 AAF AR PF1,/4 1
48 | 112531000M 20— X —2 N7 14 1
49 | 2086-04 T)LR PT1,/4 1
50 | 1373620106 YL HE CWP60X115X345 1
51 | 1035-04 AR—AxT)R45 PF1/4XPT1,/4 2
52 | KHO405200FP | =7 YA —A 1,/4X5200 S451—4 | 1
53 | KH0405200DP |=7YAHR—A 1,/4X5200 S901—4 | 1
54 | 1033-04 AR—ZAx)LR PF1,/4XPT1,/4 2
55 | 1193510106 DU CWP30X90X230 1
56 | 112156000M VRNV 1,4 1
57 | 2083-04 =7V PT1,/4 1
58 | KHO401900FP | =7 YAR—A 1,/4X1900 S451—4 | 1
59 | KH0401900DP | =7 YA —A 1,/4X1900 S901—4 | 1
60 | 1033-04 R—AT/HR PF1,/4XPT1,/4 2
61 |1173401106 YU CWP30X50X275 1
62 | 098624000M F v I 8
63 | 098530000M F ¥ I 8
64 | 138004000M F ¥ I 2
65 | BSZ08045 af ARV E 7T M8X45 6
66 | BSPZ08020 aHFXSWYFAR/LE 7 M8X20 12
67 | NNFOS 77 FAnvr Ty b M8 6
68 | 044097200M Jvix ;8 18
69 | 0749681000 AL FGNVF2—7 ;500 -
70 | ILT380 Afvany XA 7. 5X382 -
71 | ILT200 Aanv I HA 4. TX202 -

-22-










nj
TH]

g

S—240618Y

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEETAEAMTILEMRE 1 111E]120F3
TEL 0198-46-1311
FAX 0198-45-5999

BB EHERKEHFSETH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

OB EFT 8851202 EMEMB T ESWHETEELY 1003 —2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ PFr 028-3172

DiE

it
m

W& & % PFr 984-0032



